\?MEM

?_5_: Cketen a covvhnu pus ‘Rm(:l‘l'or\
SM&SQM £'0V¢0 for x<¢-l and x 75
‘?'(XWO for =\CxeB

£'(01% he xe2
' (0 co Hor xv2




Tx. ek £1ley= (xa4)(2-x)

OYWhen 1S £ incrtas'ms ldwcas'm\cj?
£'(01=0 when x= 4,2
i

—t
v 2

£ imnaﬁr\d (-4,2) |
¥ dew ssing (-, 0(2,%)

B) When 1S £ Goncave vp [down?
£'(x)e 2% 48 -x*-Yx = §-2¢-X"
£"x)=-2~2x

'V =0 when x=-I £+ -~

-1
(F ton cave up (-0, ~1) |

< Concave down (-1, o)




/ v '(x)

Where, 1s Fix) \'v\omsi.-ﬁ and detr o.asin\:f
Where s -Fbc\ Concave wp nd Conaue dom?, |

LX) €0 For ay x = F(x) Q\ways decrmﬁv
£ix) never tnreafing

#” :J

\ ()50 (£'(x) Wag

+" Sloped Yangent Lines
When x¢3

)

fix) concave vp
(-0, 3)

£'"(x)20 (£'(x) Was

"~* Sloped Yanoprd bnts
When 193

=) £(x) Concave down
(3,0)



?-’5-: X ond Y bre PoShwe numbers,
X‘\j'-'» 33 Waak 16 the minimum 'POSS't‘o\b |
Svw~ X-Hﬁ" |
x \5 20
X-y=33 7 Y* X =%
Hhen x4y =X+ 2 =Fl)

W flx)= x +33%
hen Pliye 1 -33x0= 1= 35
|-33 _
xl <O .pl
= 33 ey + a
x‘l-
x= 33 . \33
r_xr.t 33 min occws at x=V33
- ?3 not w _3
intuval (%>0) Rh 3/"3'3': Vs3

SO Wn SUM. 'S



?_&" Tvalate 31+ 3443 -G43 ok, + 3|00
\_/N
31444941 t.... ¥ lwoo)

. =3k"

¢ Yo |

D, 3k* =32 k- 3(%(40(30) i

ks | k= | lr .
=[ot, 20

g.‘.‘.- You €Stimate, Y:O-P(ﬂdhi"ﬂ'-“k'%)-%
k:|

What is A?
Ax = 20-Y _ 16

T~ Nn

:
Xe= 4k ()

thus




